<main>

————————— 0.0% (0.00s) 80.5% (510.70s) 19.5% (123.52s)

~ ~

IBoard.identifyNeighbour
src/IBoard.sml: 904
0.0% (0.00s) 1.5% (9.31s) 0.0% (0.00s)

l

IBoard.identifyNeighbour
src/IBoard.sml: 904
0.0% (0.00s) 1.1% (6.82s) 0.0% (0.00s)

l

IBoard.identifyNeighbour
src/IBoard.sml: 904
0.0% (0.00s) 1.4% (8.64s) 0.0% (0.00s)

l

ElementSet filter.fn
src/ElementSet.sml: 193
0.0% (0.00s) 2.8% (17.45s) 0.6% (4.05s)

IBoard.incLedges.<case blockLedge ..>
src/IBoard.sml: 3050
1.0% (6.06s) 1.0% (6.37s) 0.0% (0.00s)

l

IBoard.identifyNeighbour.<case blockLedge ...

src/IBoard.sml: 905
1.4% (8.78s) 1.7% (10.66s) 0.0% (0.00s)

IBoard.identifyNeighbour.<case blockLedge ..>

src/IBoard.sml: 905
1.0% (6.40s) 1.1% (6.77s) 0.0% (0.00s)

IBoard.identifyNeighbour.<case blockLedge ..>
src/IBoard.sml: 905
1.3% (8.225) 1.4% (8.70s) 0.0% (0.00s)

ElementSet. filter.fn.<case Set m>
src/ElementSet.sml: 193
0.0% (0.00s) 2.7% (17.40s) 0.6% (4.05s)

_____________________ <case Knowledge> s < o~ .
_____________ src/benchmark.sml: 365 N N
————————— 0.0% (0.00s) 80.5% (510.71s) 19.5% (123.52s) AN \
- \
-7 ' \
\ \
\ \
knowledgeBenchmark ! ‘I
src/benchmark.sml: 302 : I
0.0% (0.00s) 80.5% (510.75s) 19.5% (123.52s) [ :
/ : |
I I
I I
knowledgeBenchmark.<case position> [ !
_________________ src/benchmark.sml: 303 : :
—————————————————————— 0.0% (0.00s) 80.5% (510.57s) 19.5% (123.52s) | [
___________ [
————————————— i o
————————— l :
- --- [
== knowledgeBenchmark .generate : |
- src/benchmark.sml: 310 ! :
- 0.0% (0.00s) 80.5% (510.70s) 19.5% (123.52s) : [
- - I
- i : |
I I
[
knowledgeBenchmark.generate.<case database (m, g)> : [
src/benchmark.sml: 311 [ :
0.0% (0.00s) 80.5% (510.65s) 19.5% (123.52s) : |
[
l -
I I
ISample.sample : :
src/ISample.sml: 130 [ !
0.0% (0.00s) 80.5% (510.66s) 19.5% (123.52s) : :
l -
I I
I I
ISample.sample.<case sampleData ..> : :
_________________ src/ISample.sml: 131 | [
__________________________ 0.0% (0.00s) 80.5% (510.60s) 19.5% (123.52s) [ =~ == =--__ _ _ _ _ ! :
—————————————————— / \\\ ____—___‘“-—_ : !
—————————— N T == - - - _ | |
P N ~‘§‘~~_§ I |
-7 [Sample.sampleGame N Tt -- [ :
-7 src/ISample.sml: 78 AN T~ - : |
-7 0.0% (0.00s) 79.9% (506.95s) 19.3% (122.27s) \ e R - [ :
RS l Y RN : '
\ S o | |
\ S N | I
ISample.sampleGame.<case database w ...> ‘| AN [ :
src/ISample.sml: 79 | ! : |
0.0% (0.01s) 79.9% (506.91s) 19.3% (122.27s) ' : | [
[ [
/ [ ! : [
[ ! | [
[ ! | [
[Sample.sampleGame.playMoves ! : [ :
src/ISample.sml: 93 : | [ :
0.0% (0.00s) 79.9% (506.98s) 19.3% (122.27s) [ ! : [
[ | [
/ [ ! : [
[ ! | [
[ | [
ISample.sampleGame.playMoves.<case quota passes> [ ! : [
src/ISample.sml: 94 : : [ :
0.0% (0.00s) 79.9% (506.94s) 19.3% (122.27s) . [ : |
[ | [
l [ ! : [
[ ! | [
[ [
ISample.sampleGame.playMoves.<case false> | [ : :
_ sre/ISample.sml: 96 | _ : : | '
o _----zZZZ===°%7% =7 00% (0.09s) 79.9% (506.93s) 19.3% (12227s) | T T T T T T - =—-———________ L | : :
___________ =T N T : l
__________ -7 l AN [ I ! : [
——————— _ -7 \ | Tt - - _ | | |
-- - P - \ oqe T - - I
-7 _ - [IntSet.fold \ Probability.randomMaxSet : Tt -—- o | : :
-7 - -7 src/IIntSet.sml: 48 \\ src/Probability.sml: 919 [ T~ ! | [
- -7 0.0% (0.00s) 75.5% (478.86s) 11.2% (71.19s) \ 0.0% (0.00s) 3.8% (24.24s) 8.0% (50.66s) : Tt~ : ! :
_ - -, I T~ . |
- -’ ! , | | S
s - / | = N | I
/ I ! ~ | I I
" IIntSet.fold.<case f b Set {1 ..> [ Probability.randomMaxSet.<case set> : AN | l :
| src/IIntSet.sml: 48 : src/Probability.sml: 920 I I I : I
! 0.0% (0.00s) 75.5% (478.82s) 11.2% (71.19s) | 0.0% (0.00s) 3.8% (24.24s) 8.0% (50.66s) : : : [ :
[
[ : ! : : : [
' | | S
! [
[ IStack.foldTopDown : Probability.isMaxSet : : : [ :
: src/IStack.sml: 109 ' src/Probability.sml: 889 | | | : |
[ 0.0% (0.00s) 75.5% (478.86s) 11.2% (71.19s) : 0.0% (0.00s) 3.8% (24.12s) 7.9% (50.41s) ' : : | [
[ ! [
| | | SR
' | | S
[
[ IStack.foldTopDown.<case f b Stack ..> : Probability.isMaxSet.<case set> ! : : : [
: src/IStack.sml: 110 [ src/Probability.sml: 890 : | | ! :
| 0.0% (0.04s) 75.5% (478.82s) 11.2% (71.19s) : 0.0% (0.00s) 3.8% (24.12s) 7.9% (50.41s) [ ' ! : [
| [ [ [ |
' | = | ' BN
' | | S
[
| IStack.foldTopDown.fld : Probability.isMaxSet.<case _> [ : ! : [
' src/IStack.sml: 111 | src/Probability.sml: 895 : : : [ :
: 0.0% (0.00s) 75.5% (478.80s) 11.2% (71.19s) ' 0.0% (0.01s) 3.8% (24.12s) 7.9% (50.41s) I [ [ : |
[ : ! : : [ :
[ | ! : | [ :
I : : | | : :
: IStack.foldTopDown.fld.<case 1 acc> ‘| Probability.maxDist | [ [ : |
[ src/IStack.sml: 113 | src/Probability.sml: 882 : : : [ !
: 4.3% (27.29s) 75.5% (478.96s) 11.2% (71.19s) ! 0.0% (0.00s) 3.8% (24.11s) 7.9% (50.415s) | [ | : :
| | ' S
I ‘ | | : I
: ! ,l I I : I
: [Sample.sampleGame.testMove ! | Probability.maxDist.<case set> [ | : :
| src/ISample.sml: 82 \\ ! src/Probability.sml: 883 : ' | |
: 0.0% (0.05s) 71.6% (453.98s) 11.3% (71.55s) \ ,' 0.0% (0.00s) 3.8% (24.11s) 7.9% (50.415s) | : ! :
[ \\ ! : ' : [
[ \ ! | ! | [
: ISample.sampleGame.testMove.<case winFm pats ..> \ ,' KeyMap.map Probability.maxSet | | ! :
| src/ISample.sml: 83 \\ [ src/KeyMap.sml: 1239 src/Probability.sml: 869 ! [ : |
! 0.0% (0.00s) 71.6% (453.82s) 11.3% (71.55s) \ |' 0.0% (0.00s) 2.0% (12.95s) 3.3% (21.16s) 0.0% (0.00s) 1.8% (11.16s) 4.6% (29.25s) : : [ :
: \ I | | : :
[ \ ! : ! | [
[ \ ! : ! | [
! [Pattern.patternsAfter ‘\ ,' KeyMap.map.<case f Map tree> Probability.maxSet.<case set> : : [ :
: src/IPattern.sml: 156 \ I src/KeyMap.sml: 1240 src/Probability.sml: 870 [ ! : |
[ 0.0% (0.00s) 30.1% (190.99s) 2.5% (16.17s) \ : 0.0% (0.125) 2.0% (12.95s) 3.3% (21.165) 0.0% (0.00s) 1.8% (11.16s) 4.6% (29.25s) : : | [
\
| / \ , l \ o
| \ | | | | |
| \ ] | | I |
[ [Pattern.patternsAfter.<case board move> ' X ,' KeyMap.treeMap Probability.tabulate : : | [
: src/IPattern.sml: 157 \ | src/KeyMap.sml: 542 src/Probability.sml: 585 | | ' :
I 0.1% (0.72s) 30.1% (190.97s) 2.5% (16.17s) ‘\ l 0.0% (0.16s) 2.0% (12.83s) 3.3% (21.16s) 0.0% (0.00s) 1.8% (11.16s) 4.6% (29.25s) ! ! ,' [
I | |
: ' ! : ' ’ :
\ | [ [ !
Il \ | | | // :
RN I [Pattern.patternsAfter.<case false> [Pattern.patternsAfter.<case false> \\ ! KeyMap.treeMap .<case f tree> Probability.tabulate.<case mk> ! Ly [
S /I src/IPattern.sml: 167 src/IPattern.sml: 171 ,' src/KeyMap.sml: 543 src/Probability.sml: 585 : :// :
T~ o / 1.2% (7.76s) 9.1% (57.49s) 0.2% (1.35s) 1.0% (6.23s) 20.9% (132.77s) 2.3% (14.82s) [ 0.1% (0.40s) 2.0% (12.83s) 3.3% (21.16s) 0.0% (0.00s) 1.8% (11.16s) 4.6% (29.25s) v -7 |
~ < _ - [
T~ - ,I / / l J X _________ - : | :
T~ ~ ' : «=—=-"_"" : : :
IBoard.playSensibleStoneMove ElementSet.filter.fn Database.subtractPatterns \ [ KeyMap.treeMap.<case T node> IBoard.undoLastMove Probability.tabulateCdf [ [ |
src/IBoard.sml: 1861 src/ElementSet.sml: 193 src/Database.sml: 43 \\ ,' src/KeyMap.sml: 545 src/IBoard.sml: 3062 src/Probability.sml: 225 : : !
0.0% (0.05s) 7.9% (50.24s) 0.2% (1.35s) 0.0% (0.00s) 2.9% (18.54s) 0.4% (2.24s) 0.0% (0.00s) 5.7% (35.90s) 1.2% (7.83s) \\ I 0.0% (0.16s) 2.0% (12.83s) 3.3% (21.16s) 0.0% (0.07s) 8.7% (55.15s) 0.1% (0.70s) 0.0% (0.00s) 1.8% (11.16s) 4.6% (29.25s) I I ,'
[ [ I
l l : N l : l S
‘ ' o ’
[ /
IBoard.playSensibleStoneMove.<case board s p> ElementSet filter.fn.<case Set m> Database.subtractPatterns.<case new old> [Sample.sampleGame.testMove.<case SOME patUpdate> \\ I KeyMap.nodeMap [Board.undolLastMove.<case board> Probability.tabulateCdf.<case mk> | I /
src/IBoard.sml: 1862 src/ElementSet.sml: 193 src/Database.sml: 44 src/[Sample.sml: 86 \\ ! src/KeyMap.sml: 547 src/IBoard.sml: 3063 src/Probability.sml: 226 : I’ ,/
0.1% (0.925) 7.9% (50.00s) 0.2% (1.35s) 0.0% (0.08s) 2.9% (18.46s) 0.4% (2.24s) 2.6% (16.63s) 5.7% (35.96s) 1.2% (7.83s) 0.0% (0.13s) 41.4% (262.80s) 8.7% (55.38s) = - —\— _ _ _L' L 0.0% (0.00s) 2.0% (12.82s) 3.3% (21.16s) 0.1% (0.44s) 8.6% (54.78s) 0.1% (0.70s) 0.0% (0.21s) 1.8% (11.16s) 4.6% (29.255) L !
~ o - \\ ,l __________________________________ : II / g
~ o Y >~ NG T TN T L vy ¥
IBoard.identifyNeighbour IBoard.playSensibleStoneMove.<case Empty> KeyMap.mapPartial IInference.inferred After Probability.addSet KeyMap.nodeDifferenceDomain KeyMap.nodeMap .<case f node> IBoard.undoLastMove.<case StoneLastMove> Sequence.tabulate

src/IBoard.sml: 904

0.0% (0.00s) 1.3% (7.98s) 0.0% (0.00s)

src/IBoard.sml: 2047
0.0% (0.09s) 1.9% (11.96s) 0.1% (0.67s)

src/KeyMap.sml: 1226
0.0% (0.00s) 2.9% (18.35s) 0.4% (2.24s)

src/IInference.sml: 91 src/Probability.sml: 867
0.0% (0.00s) 32.4% (205.43s) 0.0% (0.00s) 0.0% (0.00s) 9.0% (57.26s) 8.7% (55.38s)

src/KeyMap.sml: 737
0.0% (0.08s) 2.9% (18.56s) 1.0% (6.15s)

src/KeyMap.sml: 548
1.1% (6.72s) 2.0% (12.83s) 3.3% (21.16s)

src/IBoard.sml: 3097
3.5% (22.125) 8.6% (54.34s) 0.1% (0.70s)

$(SML_LIB)/basis/arrays-and-vectors/sequence.fun: 220
0.0% (0.27s) 1.9% (12.17s) 4.6% (29.25s)

l

l

l

l l

\

| IBoard.identifyNeighbour.<case blockLedge ..>

src/IBoard.sml: 905

1.2% (7.68s) 1.3% (7.98s) 0.0% (0.00s)

IBoard.playSensibleStoneMove.<case Empty>
src/IBoard.sml: 2090
0.0% (0.14s) 1.6% (10.12s) 0.0% (0.18s)

KeyMap.mapPartial.<case f Map tree>
src/KeyMap.sml: 1227
1.5% (9.80s) 2.9% (18.42s) 0.4% (2.24s)

IInference.inferred After.<case inference ..> Probability.addSet.<case set i_p>
src/IInference.sml: 92 src/Probability.sml: 867

0.0% (0.00s) 32.4% (205.37s) 0.0% (0.00s) 0.0% (0.00s) 9.0% (57.175) 8.7% (55.38s)

KeyMap.nodeDifferenceDomain.<case nl n2>
src/KeyMap.sml: 738
0.0% (0.04s) 2.9% (18.43s) 1.0% (6.15s)

\

VL
2 A A 4

KeyMap.nodeMapPartial
src/KeyMap.sml: 527
0.0% (0.02s) 1.3% (8.04s) 0.4% (2.24s)

i

KeyMap.nodeMapPartial.<case f Node {pr
src/KeyMap.sml: 528
1.2% (7.78s) 1.3% (7.96s) 0.4% (2.24s)

>

[Board.playSensibleStoneMove.<case Empty>
src/IBoard.sml: 2102
0.0% (0.03s) 1.4% (9.13s) 0.0% (0.08s)

l

[Board.playSensibleStoneMove .<case Empty>
src/IBoard.sml: 2106
1.1% (7.23s) 1.3% (7.94s) 0.0% (0.00s)

l :

AN

[Inference.inferred After.<case NONE> KeyMap.insert
src/IInference.sml: 94 src/KeyMap.sml: 1084
0.0% (0.00s) 32.4% (205.29s) 0.0% (0.00s) 0.0% (0.00s) 9.0% (57.22s) 8.7% (55.38s)

KeyMap.nodeDifferenceDomain.<case false>
src/KeyMap.sml: 740
2.8% (18.02s) 2.9% (18.54s) 1.0% (6.15s)

l l

KeyMap.insert.<case Map tree k ..>
src/IInference.sml: 58 src/KeyMap.sml: 1085
0.0% (0.00s) 32.4% (205.34s) 0.0% (0.00s) 0.0% (0.13s) 9.0% (57.30s) 8.7% (55.38s)

l :

KeyMap.treelnsert

IInference.inferred

IInference.inferred.<case inference fm>
src/IInference.sml: 59 src/KeyMap.sml: 437
0.0% (0.00s) 32.3% (205.09s) 0.0% (0.00s) 0.0% (0.00s) 9.0% (57.07s) 8.7% (55.38s)

l :

KeyMap.treelnsert.<case key_value tree>
src/KeyMap.sml: 1059 src/KeyMap.sml: 438
0.0% (0.00s) 32.4% (205.25s) 0.0% (0.00s) 0.0% (0.27s) 9.0% (57.03s) 8.7% (55.38s)

l l

KeyMap.treelnsert.<case NONE>

KeyMap.peek

KeyMap.peek.<case Map tree key>
src/KeyMap.sml: 1059 src/KeyMap.sml: 445
0.0% (0.02s) 32.4% (205.18s) 0.0% (0.00s) 0.2% (1.54s) 7.8% (49.52s) 3.9% (24.66s)
/

l N

KeyMap.nodePeek // KeyMap.insertNodePath.insert
src/KeyMap.sml: 297 / src/KeyMap.sml: 360
0.0% (0.00s) 31.7% (201.20s) 0.0% (0.00s) /I 0.0% (0.00s) 6.5% (41.39s) 1.6% (10.275s)

l \

KeyMap.nodePeek.<case pkey node>
src/KeyMap.sml: 298
30.7% (194.75s) 31.8% (201.37s) 0.0% (0.00s)

src/KeyMap.sml: 361

KeyMap.insertNodePath.insert.<case left_right path>

0.0% (0.20s) 6.5% (41.45s) 1.6% (10.27s)

l

KeyMap.insertNodePath.insert.<case (step a
src/KeyMap.sml: 369

0.0% (0.04s) 6.5% (41.17s) 0.3% (2.02s)

s( ..>

src/KeyMap.sml: 376

KeyMap.insertNodePath.insert.<case false>

2.1% (13.415) 6.1% (38.71s) 0.3% (2.025)

l

KeyMap.treeCombine
src/KeyMap.sml: 281
0.0% (0.00s) 3.5% (21.98s) 0.2% (1.1

|

1s)

\ l

\ KeyMap.treeCombine.<case left node right>

\ src/KeyMap.sml: 282
\ 2.7% (16.97s) 3.5% (22.01s) 0.2% (1.115)
\
' /
KeyMap.treeAppend

src/KeyMap.sml: 251
0.0% (0.11s) 1.3% (8.32s) 0.3% (2.18s)

4 \
/
/

1 | KeyMap.treeAppend.<case treel tree2>
! src/KeyMap.sml: 252
I 0.0% (0.30s) 1.3% (8.21s) 0.3% (2.18s)

I
|
|

\ KeyMap.treeAppend.<case T nodel>

' src/KeyMap.sml: 255
v | 0.0% (0.30s) 1.3% (7.97s) 0.3% (2.18s)

\
\
\
AN

KeyMap.treeAppend.<case T node2>
src/KeyMap.sml: 258
0.0% (0.00s) 1.2% (7.68s) 0.3% (2.18s)

:

IBoard.incLedges
src/IBoard.sml: 3049
0.0% (0.00s) 1.0% (6.51s) 0.0% (0.00s)

l

IBoard.incLedges.<case blockLedge ..>
src/IBoard.sml: 3050
1.0% (6.33s) 1.0% (6.50s) 0.0% (0.00s)

Gomi Time Profiling

l

KeyMap .foldlterator
src/KeyMap.sml: 925
0.0% (0.00s) 1.4% (9.10s) 4.5% (28.315s)

l

KeyMap.foldlterator.<case f acc i0>
src/KeyMap.sml: 926
0.0% (0.00s) 1.4% (9.10s) 4.5% (28.31s)

l

KeyMap .foldlterator.<case SOME iter>
src/KeyMap.sml: 929
0.0% (0.15s) 1.4% (9.10s) 4.5% (28.315s)

:

KeyMap.advancelterator
src/KeyMap.sml: 920
0.1% (0.68s) 1.2% (7.57s) 4.5% (28.315s)

l

KeyMap.advancelterator.<case iter>
src/KeyMap.sml: 921
0.0% (0.00s) 1.1% (6.89s) 4.5% (28.315s)

l

KeyMap.advancelterator.<case LeftToRigh ..>
src/KeyMap.sml: 922
0.0% (0.00s) 1.1% (6.89s) 4.5% (28.31s)

l

KeyMap.addLeftToRightlIterator
src/KeyMap.sml: 907
0.0% (0.00s) 1.1% (6.89s) 4.5% (28.315s)

l

KeyMap.addLeftToRightlterator.<case nodes tree>
src/KeyMap.sml: 907
0.0% (0.01s) 1.1% (6.89s) 4.5% (28.31s)

l

KeyMap.mapPartial
src/KeyMap.sml: 1226
0.0% (0.00s) 2.7% (17.40s) 0.6% (4.05s)

:

KeyMap.nodeMapPartial.<case f Node {pr ..>
src/KeyMap.sml: 528
1.2% (77.39s) 1.3% (8.05s) 0.6% (4.05s)

KeyMap.mapPartial.<case f Map tree>
src/KeyMap.sml: 1227
1.4% (8.99s) 2.7% (17.42s) 0.6% (4.05s)

o

KeyMap.nodeMapPartial
src/KeyMap.sml: 527
0.0% (0.025) 1.3% (8.09s) 0.6% (4.05s)




